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int num = 65; /=8 Hed He
void setup(){ /] X7|3t L2
Serial.begin(9600); /] AMElE &4 S 28, A2 L HMNE 24 28

}

void loop(){ //EtEAY A2
Serial.print("Hello Arduino! "); // PCO| “Hello Arduino!"2t11 =&,
Serial.printIn("How are you?"); // PCOll “How are you? "2t EH = F{2|X| g
B, = H&E
Serial.println(num); // num8| ¢t2 PCE EH, Ht= HEj = 2XHH
Serial.printin(num, DEC); // numZt= 107‘._—’?—"4 Bz 2, 2= dEls 241
Serial.printin(num, OCT); // numzt= 82l+HEE EH 2= HEjl= EAMS
Serial.printin(num, HEX); // numétS 16T +HEI 2 E‘r:'.*, Hh= HEl= 24T
Serial.printin(num, BIN); // numéiS 2T +HE 2 B 2= HEf= 2AHE
Serial.write(num); // numét= HiO|HE| Zfe 2 HH
/] B2 ASCHZLO| s Sdts 247 =8 E
Serial.end(); //AlE|ESAE R
}
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const int LedPin = 13; // LED &8 T & X|’d5t&= =
byte CommandLed = '0’; // PCERH A2 S4E Soff 2 BE
void setup(){ /] 27|18t &

Serial.begin(9600); /] EA &2 9,600bps2 AlZ|Y EA A|E

pinMode(LedPin, OUTPUT);// LED7t S &= T2 =8Ho= 43
}
void loop() { J/EE A 3
if (Serial.available()>0) { // Btef Al2| &

Moz @2 o7 AL H

CommandLed = Serial.read(); // Al2| ¥ GIO|EE 2101 CommandLedOf A&

if( CommandLed == '1"){ // &2 O|O|E{7}1'0|H

digitalWrite(LedPin, HIGH); // LEDE 747| ?|dll LED 0f HIGHE =&

}

else if (CommandLed == '0"{ // AEX| &1 22 0|O|E7}'0'0|H
digitalWrite(LedPin, LOW); // LEDS 117| I3} LED =0 LOWE =3
}

Serial.print("l received: "); // &2 FHOE =2QI5t7| 9 OH HAIX] &
H =t

Serial.write(CommandLed); // &2 BEOE CtA| PCE XS
Serial.printin("");

}

3% OIF0| 't PCO| X E &



3% O X|3

N
DECDDOLD O

V] Autoscroll No line ending - 9600 baud -

» 3%F OF£0| - 9f PCO| X & A3}7)

O L.



3% Of| |3

24

ook

A
T

% Serial.available ()
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% Serial.read ()
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